7.10.2023 8 KJacc

MaTCMaTHKa

IIpeoOpa3zoBaHKe BEIpAXKECHUM ¢ IEPEMEHHBIMU.

1.Ynpocrure BhIpaKeHus :

Dix+ D2 —x+1)+ (2 —x)(4+ 2x + x?)

D)(x —4)(x* + 4x + 16) — x(x — 5)(x + 5)
a(a—3)2— (a—3)(a?—-3+9)
Ha—Da+1D(@*—a+1D(@*+a+1D(a®+1D(a?+1)
2.1IpeacraBbTe B BHE NPOU3BEICHUSA:
1) 4x(y? —9) + 4x%(y%? —9) — 9 + y?

2)b*(a+1) —a*(b+1)

3)(a@—b)(b* —c?) — (b —c)(a® — b?)

4)27c¢* —d3 4+ 9¢? + 3cd + d?

5)ym3 — 8n? — m? + 4mn — 4n?

3.¥YnpocTuTe BHIpAsKeHUS U HAWTHUTE €ro 3HAYEeHHe:

(33/2 + 4‘)2 + (3y2 — 4)2 — 2(1 — 3y2)(1 + 3y2), eciIny = 1
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4.11oBTopuTe GopMYyJbl COKPAILIEHHOT0 YMHOKEHM S



